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FA9 25 H 2} 5 A ZMZYE OAH ©| X OH < OA °|E &,
AH 0 A HA 17479 Al d = d < 0A = V8 +62 =10

AdE 1
22

. d<10
Y
H
P A(8, 6)
l

whatA 4 o] gL 10 ok,
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AABC ] Al ¥ AB, BC, CA 9] $1& 7217} P(3, 4), Q4. -
1), R(6, 1) o]zt & i, AABC 9] Hol=?

@ 18 (@)24 ® 30 @ 32 ® 36

. \
A(x1, y1), B(x2, y2), C(xs, y3) & 29

AB, BC, CA 9] 542 &7+

P(3,4), Q(4,-1),R(6, 1) o|B&

OJAEZEH, x1 =5, =1, x3=7

y1=0, y2=2, y3=-4

.. AABC =

1
§|x1(y2 —y3) + x2(y3 = y1) + x3(y1 — ¥2)I

- %|5(2 +4)+ (-4-6)+7(6 —2)|
=24

AABC 9] §o]= Al ¥ AB, BC, CA 9
Z3& o]o] THE APQR 2] Y ©o]9]
4 8 J-& o] g3tct,
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05 9Hoz sk B A A(3.5) 2 A Pm.n) 7t Ak o] 1)
OA.0P & % Wo= st YYAMY Holo] %2k p. 1 19

HPANFE g T W, p* +¢* o #h& 517
(&, m,n & A0 0 < m < 10 o]t}.)

® 10 @ 17 ® 26 @ 29 @37

B ‘

Y
51 A

P(m,n)
of 3 T

HPAPAG 2] Hol = 04 x (Z PolA A 0A7HA 2] 7 2])
OA = V32 +52 = 34

|5m — 3n|
Ag] d =
V34
(- A4 oA yzgx)
5m—3
Yol = v37. P31 )

m, n ©] AZ=0]1 F4=9] = AFFo|B R

|5m — 3n| = 1 o] & o §o]7} X[zo|ct.

Lp=1

15m — 3n| = 1 & TE5t= 59 £X% (m,n) & 514
++(=2,-3),(-1,-2),(1,2),(2,3),
(4,7),(5,8),(7,12),(8,13),(10,17) - - - So]c}.
q=6,p*+q> =37




45. HA A M A AL i x—y+2=0,lp: x+y-14=0,1l3:
7x—y—10 =0°= 531”\} Aol st 9o T4l (a,b)
RSOl r 2 W, a+ b+ 2 9] FSHH?

,Ccata A 94 % % A

AB—4«/§,m: V2, CA = 32
C
F E
’
A D B

= 3V2—-r+4V2-r=5v2. r=12

A DEAB 9 1:3 9 UyEHolmng,

2+18 4424

o= (55T =6
HAFEAC91:2 9 YEHEE,

3+12 11+ 16
- (R 557) - 69
DADEF = Azt o] 22 AF // DE o[t}
A AF B9 o]Fo] xFHO2 -1,y F2=2 +1 9WF
gPolFolil
A DA HE = 9] o] 5k upztrpz o]t}
" E=(5-1,74+1) = (4,8) > a+b+r>=4+8+(V2)2 =14

~&B \

ylk
111 Q

gl A

4B

0 23 6z

AAE Al B8-S Zt7 A, B, C 21 5t o|E9] HEE
3 EH A(6,8), B(2,4),C(3, 11)
o] F4H] & O(a, b) o]2
2<a<6,4<b<11---0
Ao A2 HE 7 A Mo o]2& A= FoBR
la-b+2 la+b-14] [Ta-b-10]

2z - v v O °
Q, O dHsto] EH 09 21S WEA 7= a, b 9 =
a=4,b=80°]1

Al Ol d3tH r= V2, . a+b+1r2 =14
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—‘-?—Z_]‘ﬁ 2x—y—1:0,x+2y—1:001 O]—?—E‘Q’%o]%‘—uﬁ_—g}

2ol A (a,-1) & A'd W, a o G| 927

2a+1-1  la-2-1]
V2 E (12 N1z 22
[2a| = |a — 3|

L 2a=a-3FFE2a=—-(a-3)°|B2
a=-3E=a=1

webA] o] o] T 34 1= -2
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